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51) 

52)

53)

54)

A) 

A) 

B) 

B) 

D) 

D) 

E) 

E) 

C) 

C) 

<XNDUñGDNL�ĜHNLOOHU�ELU�NXUDOD�J¸UH�GL]LOPLĜWLU��%X�
NXUDOD�J¸UH�"�LOH�J¸VWHULOHQ�\HUH�DĜDáñGDNLOHUGHQ�
KDQJLVL�JHOPHOLGLU"

ěHNLOGHNL�VD\ñODU�DUDVñQGDNL�NXUDOD�J¸UH��VRUX�
LĜDUHWLQLQ�\HULQH�KDQJL�VD\ñ�\D]ñOPDOñGñU"

:KLFK�DQVZHU�ƓWV�LQ�WKH�PLVVLQJ�VSDFH�WR�FRPSOHWH�WKH�
pattern?

7KH�QXPEHUV�LQ�WKH�ƓJXUHV�DERYH�DUH�DUUDQJHG�
DFFRUGLQJ�WR�D�VSHFLƓF�UXOH��$FFRUGLQJ�WR�WKLV�VSHFLƓF�
rule, which of the followings should be written in place 
of question mark?

<DQGDNL�ĜHNOLQ�VDDW�
\¸Q¾QGH����GHUHFH�
G¸QG¾U¾OP¾Ĝ�KDOL�
DĜDáñGDNLOHUGHQ�

KDQJLVLGLU"

If we perform a 
45-degree clockwise 
URWDWLRQ�WR�WKH�ƓJXUH�

on the left, what do 
we obtain?

A) B) 

D) 

E) 

C) 

A) 27 B) 54 C) 81 D) 99 E) 108
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55)

56)

58)

59)

<XNDUñGDNL�JHRPHWULN�ĜHNLOOHU�LOH�DOWñQD�\D]ñODQ�
GHQNOHPOHU�DUDVñQGD�ELU�LOLĜNL�YDUGñU��%XQD�J¸UH��
VRUX�LĜDUHWL�\HULQH�DĜDáñGDNL�GHQNOHPOHUGHQ�KDQJLVL�
JHOHELOLU"

���������������������������������������������������������"

7KHUH�LV�D�UHODWLRQVKLS�EHWZHHQ�WKH�JHRPHWULF�ƓJXUHV�
and the corresponding equations above. Which of the 
following equations can replace the question mark?

<DQ�WDUDIWD�ELU�N¾S¾Q�
J¸U¾QHQ���\¾]¾�

YHULOPLĜWLU��%XQD�J¸UH�
N¾S¾Q�D©ñOPñĜ�KDOL�

DĜDáñGDNLOHUGHQ�KDQJLVL�
RODELOLU"

Given the 3-face of cube 
at left hand side; Which 

one of the following is the 
extracted form of cube?

57)

A) 4x+6=6 B) 4x-6=6

D) 4x-6=4

C) 4x-6=12

E) 4x+6=12

A) 17

A) 6

B) 18

B) 4

C) 33

C) 5

D) 34

D) 3

E) 35

E) 7

A) B) 

D) E) 

C) 

A) B) 

D) E) 

C) 
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60)

61)

62)

63)

<XNDUñGD�YHULOHQ�ĜHNLOGH�WHUD]LOHU�GHQJHGH�ROGXáXQD�
J¸UH���������\HULQH�DĜDáñGDNL�ĜHNLOOHUGHQ�KDQJLVL�
JHWLULOPHOLGLU"

$OO�VFDOHV�DUH�LQ�EDODQFH��:KLFK�ƓJXUH�FDQ�EH�UHSODFHG�
instead of         ?

A) B) 

D) E) 

C) 

<XNDUñGDNL�©HPEHUOHUH�\HUOHĜWLULOHQ�VD\ñODU�EHOLUOL�ELU�
NXUDOD�J¸UH�GL]LOPLĜWLU��%XQD�J¸UH�������YH������VHPEROOHUL�
\HULQH�VñUDVñ\OD�KDQJL�VD\ñODU�JHOPHOLGLU"

Above numbers in the circles are written as a given rule. 
Which numbers can be replaced instead of  symbols 
       and       respectively?

A) 2 - 64 B) 3 - 55 C) 4 - 45

D) 5 - 44 E) 6 - 60

$ĜDáñGDNLOHUGHQ�KDQJLVL�ELU�\¸Q¾\OH�GLáHUOHULQGHQ�
IDUNOñGñU"

Which of the following is different from others in one 
aspect?

A) 

A) 

B) 

B) 

D) 

D) 

E) 

E) 

C) 

C) 
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65)

64) 66)

67)

$ĜDáñGDNL�DOIDEH\L�J¸]¸Q¾QH�DOñQñ]�
Consider the following series of alphabets:

A) 

A) 

B) 

B) 

D) 

D) 

E) 

E) 

C) 

C) 

<XNDUñGDNL�SLUDPLWLQ�GñĜ�\¾]H\LQGH�ND©�WDQH�NDUH�
YDUGñU"
How many squares are on the outer surface of the 
pyramid above?

$�%�&�'�(�)�*�+�,�-�.�/�0�1�2�3�4�5�6�7�8�9�:�;�<�=

/$:
�������

DEB
������

36,
�������

(*2
"

A) 3141281

D) 3142811

B) 314181

E) 3124181

C) 324181

A) 156 B) 144 C) 181 D) 197 E) 168
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68)

69)

70)

71)

=�ĜHNOLQL�ROXĜWXUPDN�L©LQ�KDQJL�LNL�ĜHNLO�
NXOODQñOPDOñGñU"

=

,

,,, ,9

9

,,

�;�<�� �"

Which two shapes should be used to create the
shape Z ?

�������������������������������������������������"

A) 147

A) (81,242)

D) (81,241)

A) I-II

B) 368

B) (63,242)

E) (108,241)

B) II-III

C) 189

C) (108, 112)

C) II-IV

D) 244

D) III-V

E) 328

E) I-V

A) 

C) 

B) 

D) 

E) 
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72)

73)

74)

75)

$ĜDáñGDNLOHUGHQ�KDQJLVL�IDUNOñGñU"
Which of the following is different?

A) 78 B) 82 C) 92 D) 90 E) 88

A) 

A) 

C) 

C) 

B) 

B) 

D) 

D) 

E) 

E) 

�� �� 31 �
�� �� �� �
�� �� 39 3
�� ? 36 �

A) 121 B) 132 C) 144 D) 156 E) 196

� 6 � ��
�� �� �� ?
� � 9 11
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76) 77)

78)
A) 

C) 

B) 

D) 

E) 

A) C) B) 

D) E) 

A) 34 B) 44 C) 54 D) 64 E) 84
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79)

80)

7HVW�%LWWL��&HYDSODUñQñ]ñ�NRQWURO�HGLQL]�
End of the Test. Check Your Answers.

A) C) B) 

D) E) 

<DQ�WDUDIWD�ELU�N¾S¾Q�
D©ñOñPñ�YHULOPLĜWLU��%XQD�

J¸UH�DĜDáñGDNL�N¾SOHUGHQ�
KDQJLVL�HOGH�HGLOHPH]"

According to the extracted 
cube at left hand side; 

Which one of the following 
cubes can not be 

produced?

�����������������������������������"��������

A) 210 B) 216 C) 222 D) 240 E) 254
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